@bk g tERmaEAN e

YNV = SR I R

(H) & 3% 4H 18 () &0 44 3HA31H

B SRR (B =4 mERR)

(HAL 1)
PN i /I UAREE R (A) | ATAE SR (B) | H#898(A) - (B)
U | BT RIS 23,545,183 | 27,590,814 | -4, 045, 631
|| 2% [ FEEEAEY — B RS E NS 300, 845, 849 | 298, 938, 797 1,907, 052
= H— A TEE S A (1) 324,391, 032 | 326,529, 611 | -2, 138, 579
PSR- APNLE 181, 142,871 | 173, 713, 280 7,429, 591
5| H | FEE 23,015,749 | 23,034, 773 -19, 024
&) FEE 82,707,080 | 72,421,881 | 10, 285, 199
4 b X EEE 23,566,127 | 27,606,233 | -4, 040, 106
Tk T A AE B2 4,617, 764 5,416, 008 -798, 244
%) ] oA ) 4 2 R A ST 4 U BB -6, 059, 748 | —2,569,343 | -3, 490, 405
0 B — X {EEVE HE (2) 308, 989, 843 | 299, 622, 832 9,367, 011
B — BRI EER AR (3) = (1) - (2) 15, 401, 189 | 26,906, 779 | —11, 505, 590
I S ECHLE ALY BN A 877 739 138
|| #& | 2o Y — v RIEEHMLLE 2,703, 874 532, 706 2,171, 168
= H— B R IRESMUE E (4) 2,704, 751 533, 445 2,171, 306
A | | AAFLE 637, 560 703, 800 -66, 240
% | A | Zofthoy— e 2 iEE/E 1,416, 617 1, 309, 684 106, 933
&)
4N
1
PR
%) H— v RGBS A (5) 2,054, 177 2,013, 484 40, 693
il H— B X RESMERGEERH (6)=(1) - (5) 650, 574 | -1, 480, 039 2,130, 613
% e P ZEKE () = (3) +(6) 16,051, 763 | 25,426,740 | -9, 374, 977
K| U | hE R i 2 Al B A N A | 8, 616, 000 8, 616, 000
IR S KR &5t (8) 8, 616, 000 8,616, 000
| & | BEEE e AR - AU R 4 4
Bk | A | E A Bh A2 R AR N A U AR (BR) -21, 000 21, 000
D ] Je A B 4 S R I R ST A R T AR 8, 616, 000 8, 616, 000
H Kepl g HE (9) 8, 616, 004 -21, 000 8, 637, 004
FrR R ERE (10) = (8) - (9) —4 21, 000 -21, 004
UHNEEERECEE QD =(71)+10) 16,051, 759 | 25,447, 740 | -9, 395, 981
M| AR Eh R AR (12) 170, 599, 642 | 145, 151,902 | 25, 447, 740
| Y HERM R B EECERE (13)=(11) +(12) 186, 651, 401 | 170, 599, 642 | 16, 051, 759
% | EASTUREE(14)
&) | OO A TUREER (15)




YNV = SR I R

(H) & 3% 4H 18 () &0 44 3HA31H

(BT )
| PN i | /I AR SR (A) | ATAE SR (B) | 838 (A) - (B)
| £ OO EH (16)
Tk
7=
B
%)
BB | RS ENEEEERR (17) = (13) + (14) + (15) - (16) 186, 651, 401 | 170, 599, 642 | 16, 051, 759




